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‘Math 60 Summary of Techniques for Graphing a Line '
Begin with Option 1. If it does not apply, try Option 2. If not Option 3, go on to Option 4, and so on.

LN

Oﬁtion 1]: : . '
Ask: Is the line vertical? [Does the equation have x Ask: Is the line horizontal? [Does the equation
but no y?] have y but no x?]
Method: Plot x-intercept and a line up and down Method: Plot the y-intercept and a line left and
from it. right from it.
Example 1: x = 3. Example 2: f(x) =2
Plot the x-intercept at the value given, (3,0) Plot the y-intercept at the value given, (0,2)
in this example, and a line up and down from it. in example, and a line left and right from it.
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Graph for Example 1

Option 3}

" ask: Are the x-intercept and y-intercept both integers? [Is the constant is evenly divisible by both the
coefficient of the x-term and evenly divisible by the coefficient of the y-term?]
Method: Find and plot the x-intercept, find and plot the y-intercept, connect the two with a line.

Example 3: 2x + 3y = 6 [6 is divisible by 2 and divisible by 3]
Find the x-intercept (set y=0, solve for x), (3,0) in example, and plot it.
Find the y-intercept (set x=0, solve for y), (0,2) in example, and plot it. Connect with a line.

3 -2 -1 2 3 4
T-1

Graph for Example 3 Graph for Example 4

i0p e
~Ask: Is the y-intercept an integer? [Is the constant term is divisible by the y-coefficient?]
Method: Write equation in slope-intercept (f (x) = mx + b) form, plot the y-intercept, use the slope.
Example 4: 2x + 3y = 9 [9 is divisible by y-coefficient 3, but not by x-coefficient 2}

Write in slope-intercept form: f(x) = — éx + 3. Continued. ..




Plot the y-intercept, (0,3) in example. (continued on the back)

Write slope as -:% ( :3-2- in example).

From the y-intercept go up rise units (if rise is positive) or down rise units (if rise is negative).
From there, go right run units (if 7un is positive) or left run units (if run is negative).

Option 3
Ask: Is the x-intercept an integer? [Is the constant term is divisible by the x-coefficient?]
Method: Write equation in slope-intercept (y = mx + b) form, find and plot the x-intercept, use the slope.

Example 5: 2x + 3y = 4 [4 is divisible by x~coefficient 2 but not by y-coefficient 3]

Write in slope-intercept form: f(x) = — -;-x + g—

Find and plot x-intercept (2,0).

Write slope as —:;—;53 ( :f' in example)

From the x-intercept go up rise units (if rise is positive) or down rise units (if rise is negative).
From there, go right run units (if run is positive) or left run units (if 7u» is negative).
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Graph for Example 5 Graph for Example 6
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Ask: Is neither the x-intercept nor y-intercept an integer? {Is the constant term is not divisible by either the x-
coefficient or the y-coefficient?]

Method: Find any point and use the slope.

Example 6: 2x + 3y = 7. {7 is not divisible by 2 or by 3]

Choose an x-value, substitute, and solve for y, OR choose a y-value, substitute, and solve for x.]
Choosing x=0 or x=1 in this example give fractions for y. Choose x=2.

2(2)+3y=7 44+3y=7 3y=3 y=1
Plot the point ( in this example, (2,1) )
Write the equation in slope-intercept form. (y = — éz-x + g in this example)

. rise -2.
Write slope as — (—5- in example)
From the point go up rise units (if rise is positive) or down rise units (if rise is negative).
From there, go right run units (if 7un is positive) or left run units (if run is negative).




Math 60 How to Write the Equation of a Line as a Linear Function

_~Step 1: Recognize if the line is vertical. Write equation x = x — — coordinate.

TN

TN

How to know if a line is vertical:
o It says “vertical”.
« It says “slope undefined”.
« It is parallel to another line with undefined slope (vertical).

« Itis parallel to another line whose equation is x = x — coordinate (vertical).

« Itis perpendicular to a horizontal line, y = y — coordinate .

« Itis perpendicular to a horizontal line, slope = 0.
o [tis parallel to the y-axis.
It is perpendicular to the x-axis.
IMPORTANT Vertical lines are not functions!

Step 2: Recognize if the line is horizontal. Write equation f(x) = y - coordinate .

How to know if a line is horizontal?
o [t says “horizontal”.
o It says “slope 0”.
o It is parallel to another line with zero slope (horizontal).

It is parallel to another line whose equation is y = y — coordinate (horizontal).

It is perpendicular to a vertical line, x = x — coordinate .
It is perpendicular to a vertical line, slope undefined.

It is parallel to the x-axis.

It is perpendicular to the y-axis.

Step 3: Given slope and a point:

If the point is the y-intercept (0,5), substitute into f(x)=mx+5.
If the point is not the y-intercept, substitute into the point-slope formula y - y,

and replace y by f(x).

Step 4: Given two points:

Y2—N1
x2 -x1

Find the slope using the slope formula: m =

If the point is not the y-intercept, substitute into the point-slope formula y — y,

and replace y by f(x).

Step 5: Given “parallel to ” and a point.

Find the slope of the given line by writingin y =mx+b
Use that same slope.
If the point is not the y-intercept, substitute into the point-slope formula y - y,

and replace y by f(x).

Step 6: Given® perpendlcularto ” and apomt

Find the slope of the given line by writing in y =mx+b
Take the opposite and reciprocal of that slope to get the new slope.
If the point is not the y-intercept, substitute into the point-siope formula y - y;

and replace y by f(x).

= m(x - %), simplify,

= m(x - x,) , simplify,

= m(x~x,) , simplify,

= m(x —- x; ), simplify,




Math 70: 3.6 & 3.7 Slope-Intercept Form of the Equation of a Line

N

Point-Slope Formula for the Equation of a Line

Examples and Practice

1)

2)

5)

9)

Write the equation of a line having slope —i— and y-intercept (0,—%)
Write the equation of a line with slope % passing through the point (4,—6)

Write the equation of a line passing through (%i—) and (%%) in function notation.

Write the equation of lines
a. Slope undefined, through (-1,3)
b. Slope 0, through (-2,~5)

Find the slope of a line perpendicularto 2x -3y =1.

Write equation of a line perpendicular to 2x -3y =1 through (- 4,8) in function notation.
Find the slope of a line parallel to 2x~3y =1.

Write a linear function parallel to 2x -3y =1 passing through (— 4,8)

The number of McDonald’s restaurants in 2010 was 32,737. In 2005, there were 31,046. Lety be the
number of McDonald’s restaurants and x be the number of years since 2005.

a. Write alinear equation that models the growth of McDonald’s.

b. Use equation to predict number of McDonald’s restaurants in 2013.

10) A company has learned that by pricing a swim noodle at $3, sales will be 10000 noodles per day,

while raising the price to $5 causes sales to drop to 8000 noodles per day. Let x be price and y be
number of noodles sold.
a. Assume the relationship between price and number sold is linear and write the equation.
b. Predict the number of noodles sold if the price is $3.50.
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TI-84+ GC 19 Choosing an Appropriate Window for Applications
Objective:  Choose appropriate window for applications

Example 1: A small company makes a toy. The price of one toy x (in dollars) is related to the number of toys
which are sold y by the equation y = ~250x +3500. What types of numbers do not make sense for x? What

types of numbers do not make sense for y? Graph y = -250x +3500 in an appropriate window.

Step 1: What values make sense? Which maximum and minimum values are easiest to calculate?

¥, the number of toys, must be a whole number—not a decimal nor a negative. x, the price, must be positive.
Since x is in dollars, it should be rounded to two decimal places, unless the instructions say “nearest dollar”.

! We need Xmin, Xmax, Ymin, and Ymax. From any two, we can find the rest.

While it seems silly to give the toy away (price x = $0), this is easy to find. Xmin = 0.
The smallest number of toys that might be sold is none. Ymin=0.

| CAUTION: Ymin may correspond to Xmax, not Xmin!

™ Step 2: Substitute to find ordered pairs on the graph to find remaining upper and lower values.
Find the value of y which corresponds to Xmin =0. y =-250(0)+3500 = 3500 Ymax = 3500

When x =0, y =3500 means they’ll give away 3500 toys at a price of $0. (0,3500) is a point on the graph.

Find the value of x which corresponds to Ymin =0. 0 =-250x +3500 gives Xmax = 14.
When x =14, y =0 means they’ll sell no toys if the price is $14. (14,0) is a point on the graph.

Step 3: Determine Xscl and Yscl.
Xmax — Xmin = 14 - 0 = 14. 14 is divisible by 2 (7 ticks) or 1 (14 ticks). Xscl= 1.
Ymax — Ymin = 3500 — 0 =3500. 3500 is divisible by 500 (7 ticks) or 250 (14 ticks). Yscl = 250.

Step 4: Graph.

En::n {m:_)?‘ iuzx lBSuJ[ Ot'ﬂu {use‘[usuj[mu;au {mu;cwtm
[‘:"‘“g: 20 | ) G P P
| o [ P [ =

Floti Plot2 Flot3 lwIMpuw
W1 B -2560X+3588 X¥min=8
_xNe= Kmax=14
Wi= xscl=]
W= Ymin=@a
\We= Ymax=35688
WWe= Yscl=250
o= I¥res=] — e e,
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7 Example 2: The equation y(x) = 0.212x +12.04tells the percentage of the labor force y which are adults over

age 65 for x the number of years since 1990. What types of numbers do not make sense for x? What types of
numbers do not make sense for y? Graph y(x)=0.212x+12.04 in an appropriate window. Interpret the

TN

graph.

Step 1: What values make sense? Which maximum and minimum values are easiest to calculate?

x the number of years, is a whole number. If we consider 1990 and 2020, we get x =0 and x =30, giving

Xmin = 0 and Xmax = 30.

y the percent of the labor force, must be between 0% and 100%.
The y-values tells us Ymin = 0 and Ymax = 100.

Step 2: Find Xscl and Yscl.

Xmax — Xmin = 30 — 0 = 30, which is divisible by 1 (30 ticks), 2 (15 ticks), or 5 (6 ticks).

Ymax — Ymin = 100 — 0 = 100, which is divisible by 10 (10 ticks). Choose Yscl = 10.

Choose Xscl = 2.

Step 3: Graph.

STTmoT F1 ] 12 zY fu y] fi2 F3 MEM W) (L ¥
Y= W7l - || 2 J| 1 J{ 2 } X,T.8,n + JL 1 ]
(L2 FA R 1] {eamioc. ) (La 7] [omwrsove) (sey n2 ) [eemysove}] (L3 o
2 Jl e 0 4mmm} 0 (ENTER | | 3
(CATALOG ..} {ewmmysouve] (L2 2] [oemysoave) [cataioG...) [eemysowe) (L1 v] [cATAL0G ..] [CATALOG ..
. 0 j{ENTeRj|{ 2 ||eENTER|| O ama[1]‘ojgog
Bmysotve] TLY ¥) {cararoc ) [mame s

| ENTER | | 1 | 0 || crarn

Ploti Plotz Flot2 WINDOW

WiB.212K8+12.84 Amin=a

V=1 smax=30

Wis= Ascl=2

W= Ymin=@

“We= Ymax=188

WNe= Yscl=160

We= JHres=1 —

Step 4:

The graph is increasing, so the percentage of the workforce which are 65 or older is increasing.
The values are between 10% and 20%, so most of the workforce is younger than 65.
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" Example 3: The equation f(x)=0.124x +0.505 tells the cost of a 30-second Super Bowl commercial, f, in

millions of dollars, for x the number of years since 1990. What types of numbers do not make sense for x?
What types of numbers do not make sense for y? Graph f(x) =0.124x+ 0.505 in an appropriate window.

Then find and interpret f(20) and the year that the cost of one ad exceeds 3 million dollars.

Step 1: What values make sense? Which maximum and minimum values are easiest to calculate?

x the number of years, is a whole number. If we consider 1990 and 2020, we get x =0 and x = 30, giving
Xmin = 0 and Xmax = 30.
y in millions of dollars, must be positive.

Step 2: Substitute to find ordered pairs on the graph to find remaining upper and lower values.

When x =0, f(0)=0.124(0) + 0.505 = 0.505 means that in 1990, one ad cost about half a million dollars.
Choose Ymin = 0 (since the origin is a good reference point).

When x =30, £(30) =0.124(30) + 0.505 = 4.225means that in 2020, one ad may cost $4.225 million.
Choose Ymax = 4.5

Step 3: Determine Xscl and Yscl.
Xmax — Xmin = 30, which is divisible by 2 (15 ticks), 3 (10 ticks) or 5 (6 ticks). Choose Xscl =2 here.
Ymax — Ymin = 4.5, which is divisible by 0.5 (9 ticks). Choose Yscl =0.5

TN

Step 4: Graph.

SOYmOT R (1§ 1 fu ¥} (2 7] (A f MEMon] {4 3] fis u] [caao6 ) IS v
Y= CILE | - || 1T j{ 2 | 4 |gafy + s JLS JL O JL 5

fmw]m"{ o‘jmf’s"‘f“"‘é’“‘i T‘.«’&*‘j["z“]m[ ofmrui{i.:

5 ) fomysooe) [0 ) fLS U) {mame
[ 5 J[amm .« JL S | GRAPH
PlotL Plotz Plot3 IMINQDM
Y18, 124%+. 5858 Xmin=0
“We= “max=308
“Wa= Bscl=
“Wy= Ymin=
We= Ymax=4,5
“Va= Yscl=.95
WWe= Ares=]

Step 5:  f(20) = 0.124(20) + 0.505 = 2.985 million dollars.
When x is 20, the year is 1990 + 20 =2010. The cost of an add in 2010 was $2.985 million.

Step 6: To determine the year in which one ad exceeds 3 million dollars, replace f(x) by 3.
3=0.124x+0.505 gives x ~ 20.12

AN

Because the Super Bowl happens only once per year, when x = 20 in 2010, the cost is below $3 million.
So 2011 is the first year that the cost exceeds $3 million.

Copyright 2013 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.



Rev 12-16-13
TI-84+ GC 19 Choosing an Appropriate Window for Applications page 4

“ Practice

1) The amount f{x) spent on Research and Development for pharmaceuticals, in billions of dollars, spent
each year x is given by f(x) =2.602x —5178. The model is valid for x beginning year 2000.

a. Graph in an appropriate window.
b. How much is spent in 2015?
c. In what year does spending first exceed $70 billion?

2) The price of a useful gizmo x in dollars, is related to the number of gizmos sold y by the equation

y(x) = ~1000x +13000.

a. Graph in an appropriate window.
b. How many gizmos are sold if the price is $8?
c. What is the price of one gizmo if 3000 are sold?

3) The number of smartphones shipped per year, y, in millions, is related to the number of years since 2000,

x, by the equation y =26.351x-199.843

a. Graph in an appropriate window.
b. How many smartphones were shipped in 2008?
¢. In what year does the number of smartphones shipped exceed 300 million?

4) The number of admissions to movie theatres y in billions, for x years after 2002, is given by

y(x) =-0.04x+1.62

a. Graph in an appropriate window.
b. How many admissions were purchased in 2004?
¢. In what year will the number of admissions first drop below one billion?

5) The cost of renting a minivan C, driven for x miles is given by C(x) =0.3x + 42

a. Graph in an appropriate window.
b. How many whole miles can be driven for $500?

c. What is the cost of driving 2400 miles?

6) The fraction, expressed as a decimal, y of females age 18 and under who smoke during year x, where x is
the number of years since 1960, is given by y =-0.00391x +.36218

a. Graph in an appropriate window.
b. What decimal, to the nearest thousandth, of females age 18 and under, smoked in 19707

¢. Write your answer for part b as a percent.
d. In what year did fewer than 18% of females age 18 and under smoke?
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1) Note: x is the actual year, (not the number of years since 2000).

Pioti PIot2 Flot3 !MIHDDM
WiB2.682%-5178 || Amin=2000
“Ya=0R “max=2830
W= Hscl=2
“Wy= Ymin=23
We= Vnax—BB
“Ya= Yscl=5

a [Me= +Rres=1

b. f(2015) = 65.03, [$65.03 billion|

c. 70=2.602x-5178 gives x ~ 2016.9,2017,

2) Note: find x and y intercepts.

Floti Plotz Plotz WINDOW
Wi1B-1080X%+13088|| ¥min=08
“We= Xmax=13
Was= Rscl=1
“Wy= Ymin=8
We= Ymax=1368088
We= Yscl=1888

a [MYe= drres=1

b. »(8) = 5000, [5000 gizmo

c. 3000 =-1000x +13000 gives x =10, 510

3) Note: y cannot be negative. For x, choose an ending year, like 2020.

Flotl Flotz Flots WIHDUM

WiB26.351%~-199|| ¥min=8

V=0 Kmax=28
W= Kscl=

Wy= Ymin=8

\Ye= Vmax=339
W= Vscl=28

a [MYe= +¥res=11 NE—

b. x=2008~2000 =8, 26.351(8) —199.843 = 10.965, [10.965 million smartphones

c. 300=26.351x~199.843 gives x ~18.97, 2000+19 =
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“4) Note: include the origin as a point of reference

Flotl Flotz Flot2 (IHUDM
WiB-.84¥+1.62 Amin=a
We= Xmax=18
W= Kscl=
Wy= Ymin=
We= Ymax=2
a [BYr= +¥res=1

b. x=2004-2002=2 gives|1.54 billion admissions

c. 1=-.04x+1.62 gives x #15.5, 16+2002 =

5) Note: include the origin as a point of reference.

Flotl Plotz Plot3 lIND M
W, 3X+42 Xmin=8a
We= Xmax=1888
Wi= #scl=188
Wy= Ymin=8
We= Ymax=358
A~ “Vg= Yscl=25
a W= L¥res=1

b. 500=.3x+42 gives x ~1526.7,|1526 miles. (1527 miles costs more than $500).

c. C(2400)=762,

6) Note; this function gives a percentage in its decimal form.

Floty Flot2 Flots (WINDOW

W18 -, 88391 X+. 3| Xmin=8

“Wez=8 Hmax=60
“Was= Kscl=

Wy= YMin=

We= Ymax=.4

Ws= Yscl=,85

a |hMYes +¥res=1 |-

b. x=1970~1960=10, y(10) =.32308 ~.323

c. B23%

d. .18 =-.00391x + 36218 gives x ~ 46.6, 1960 + 47 = 2007,

Copyright 2013 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.



Rev 8-8-13
Name

Date

Ti-84+ GC 20 Graphing More Than One Function

Objectives: Use MODE to graph two or more functions sequentially or simultaneously
Use and pronounce subscript notation
Tum graphs on and off without deleting them from the Y= menu
Use graphing styles in the Y= menu
Using TRACE and Zoom Integer (ZInteger) when multiple functions are graphed

Usually it's quicker to graph multiple functions simultaneously. in the MODE menu, change
SEQUENTIAL to SIMUL

][ > ][ JLV )[ ) )[ )Thenqun. -

[ILEM sCX  ENG
A%l 01234E&E7H9
RADIAN

FAE FPOL SEQ

oot
SEQUERTIAL
AR a+bi- re™si
Ny HORIZ G~-T
SETCLOCKRURTILRES RE

ESEN

To graph up to ten functions in the same graphing window, use more functions in the ™

Ve [ v ] and [A] 0 see all the mncﬁons in the Y= menu.

The Y= menu uses subscript notation to identify each function. A subscript is a number (or letter or
word) which is written below the line next to the function name.

Example 1: The 1in y, is a subscript, and y, is pronounced “y-sub-one”.

Subscripts are often used in math for a list of similar objects.
The GC will graph up to ten functions, y,, y,, ... ¥5, Y-

"CAUTION: You can also scroll to the top where it says Plot1 Plot2 Plot3. These Plots should be

off. If you press ENTER and tum on any of these three Plots, you'll get an error (see GC9).

and ‘2 to highlight the Plot that's on, and press ‘———

(To tum off a Plot, use the Lo

Example 2: Graph y=2x+5 and y= -%x—4 in a standard window. Use your knowledge of slope
to identify which graph is which.

rzoou?j?
Graph in standard window. ~——— @
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Example 2, continued.

Answer: :

The line going uphill (from left to right) has positive slope, so it mustbe y=2x+5, with slope 2.

The line going downhill (from left to right) has negative slope, so it's y = -«;—::-—4, with slope —-«;.

Example 3: Graph f(x)=2x®+3x+1, g(x) 2x? +3x -1, h(x) =2x* +3x+4and k(x) 2x2 +3x—4
in the same window.

Input the functions: X

L T Vi £ :

Graph in standard window: kst

Answer:

When graphs are similar, there are three ways to help see which function is which:

Turmn off all or most of the graphs by un-selecting the = next to that function in the Y= menu.
OR ,
Change MODE to SEQUENTIAL. The GC will graph y,, then y,, and so on, in order.
OR

Use a different graphing style for each graph by changing the symbol to the left of the
function in the Y= menu.

| The next examples will demonstrate each of these.
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N
Example 4: Using the graphs from the previous example, tumn off y,, y,, and y,. Graphonly y,.
Open the Y= menu Move to the = in front of y,: e
Unselect y,: — .

Repeat for y, and y,, then graph: [Vj[ AR [ v][ﬂ- '»'E']:

Ploti Fletz FPlot3 ‘ ;

“Wil2RE+3K+]
We=2R2+3K-1 :
Wa=2K2+3x+4 s ——
Wy=2KE+3X-4
“Ye=N
Y=

Answer: o=

Example 5: Using the graphs from the previous examples, tum y, on, and graph y, and y,
sequentially instead of simultaneously.

e BB ]Lv]Lv]LvaJ
. SEecocol

noRMEL oiﬂgz I'Egﬁi 2g8 $°g2;g§t23;got;

FLOAT Vi <+ 3

RADIAN \WzBE2X2+3%-1
WWa=2REZ+3K+4
“Wy=2KE2+3K-4
“Ye=i
“Ye=

Answer: SETCLOCKICEDEEESEEIR | I~ Yr=

To use different graphing styles:

In the Y= menu, notice the diagonal line to the left of the equal sign. This is the “line® graphing style.
If you move on top of this symbol, and press enter, you will change the “line” style to the “bold line”
style. If you press enter again, you get “shade above” style. The GC goes through the list of
available styles, then retumns to the “line” style. The seven styles, in order, are:

Line

Bold line 7 B

Shade above '

Shade below

Bubble line Ce

Bubble invisible

P Dotted
. When you clear a function from the Y= menu, it automatically retumns to line style.
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Example 6: Use the same functions from the previous examples. Tumn y, and y, on, then graph
y, in line style, y, in bold line style, y, in bubble line style, and y, in dotted line style.

Turn on functions: ‘———

move to y,: “-—J select:

Move back to top and left of y,: [A J {A 2 [ O J

Change line style to boid line style ‘-

Move y, ‘-

| Change line style to bubble line style: [EHTERJ [mj [m) [EHTER)

Move to y,
Change line style to dotted line style: [m) [mj [E"TERJ b

Graph:

Flatl Plotz Flot:
“YeEZKE2+3IN+]
Wzazx2+3§—1
Y3 B2K2+3IK+4 A
'r.$u52}<2+3x-4
Me=

“Ya=l
Answer: i

When using Zoom Integer and Trace with multiple functlons read the mformatnon on the screen
carefully. The graphs may be hard to see, but it won't matter.

~ to go up the list).

Use - to move down the list of functions in the Y= menu (or G

Use ‘"X - to move to new x-values.

Example 7: Use Zoom Integer (ZInteger) and TRACE to complete the tables for the'funcﬁons in the
previous examples.

XAin{(Yri|Vil|Va
-1
0
2
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Example 7, continued.

: . Trace.

At the top of the screen is the function and at the bottom of the screen are the x- and y-values.

Zoom Integer™—— . Move to origin if necessary and press ‘-

Vizzkz+35ed]
#=0 v=1 This screen shows x=0 gives y, = 1.
YzszRze38-1
Press /to move to y, [#=¢ ¥="1 This screen shows x=0 and y, =-1
F2HR4 IR
.
Press to move to y, :1#=0 L) This screen shows x=0 and y, = 4

TH=zRZ+38~Y

Press “—_J to move to y, 180 A =4 This screen shows x=0 and y, =-4

Press “~2_Jto move to x=-1, then = Jthree times to move back up the list of functions, noting

the values.

Press {) ] [) J [ }] to move to x=2 then press & to move back down the list of

functions and note the vaiues.

Answer:

XAV | Y2 |Vi| Ws
110 -2 |3 |-5
011 (-1 14 (-4
2 11511311810
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Practice:

1) Graph y; =3x-7 and y, = -x* + 4 simultaneously, both with line style, in the standard window.

2) Graph y; =3x-7 and y, = ~x? + 4 sequentially, both with line style, in the standard window.

3) Graph y; =3x-7 and y, = ~x? + 4, then tum off the graph for ¥, and graph only y,.

4) Tumn off the graph for y, in the previous question and graph only y, =3x—7 with each of the
seven styles. Which style do you like best?

5) Complete the table for y, =3x-7 and y, =-x% +4.

Xini»m

6) Complete the table for y, =3x-7, y;, = —x? +4‘, y3= x>

XA |y
-2
-1
0
1
7

7) Complete the table for y; =3x-7, y; =—x* +4, y; =x*, and y, "%JHZ

>

N Va2t Vs Vs

]
—

~NINIO
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-~ 0:;:1]':3 qﬂsms . 'l:‘l'lotéSP'lot?z Flot3 1
FLOAT N -
RADIAN [ WIgssT, 3
Pk POL  SEQ 5= f’: L
EQUENTIAL “Yy=
AL a+bi  ret8i Wes=
A8 HORIZ G-T “We=
1) (SETCLOCKIEINERETRI) Wo= A
SCI  ENG Flotl Flotz Flot: f
FUEN 0123456789 ||W\N1E3IX-7 3
KADIAN “WeB-X2+d :
“Wa= . ffﬁﬂ
“Wy= ]
We=
W=
2) |SET CLOCKIRRICRFEWERITR) ||\Y 7= A
Flotd FIokZz Flot3
NM=Ei '
Yy 2 -
“Wi= .ff:ﬂ —
“Wy=
“WYe= t
We=
3) We= i
. Plotl Flotz Plots 1
~Y1E3K-7 ]
We=-Ke+4
“Wa= s s
“Wy=
We=
M=
4) line style [*Y?= /
Flotl Plotz Flots
“WEIX-7
“We=-Ke+4
W= —
Wy= ]
“Ye=
“We=
bold line style: [>¥?=
Plotl Flokz Flotz !
W EIK-T i
We=-Ki+d4 '
“Wi= ;
Wiy= r“r
“Me= '
We= '
shade above style1>¥?=

Flotl Flotz Flot:
wY1B3IK-7
“We=-Xe+4
Wae= —
“Wy=
W=
We=

shade below style: [*Y?=
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Flotl Flot2 FPlot3 R ]
41 B3K-7 s ]
wWe=-Xe+4 ] ]

W= e i PSP |

wWy= 1 ]
We= VP
We= A
bubblelinestyle"““'?‘ Sl | S

Floti Flotz Flot3 ] u. q . [
oY BIR-F 1 .
We=-Xe+4 :
WWa= N e,
Wy= ] .
“We=
We=
bubble invisible style:*Y?= :

' Plotl Flotz Flot3 :
Y B3R-7
We=-¥e+d ;
“Wa= T SO
MWy= B
“We= o
i “We= I
dotted line style: [>¥'7= .

™ 4 continued.

Flotli Flote Flot3

WiB3IR-7

sVl X244

S |

\$q=

“Ye=

W=

5) [MWe= M[ Sj [Em"]

X |y Y2
21-131]0
-11-10]3
0 (-7 |4
114 |3
21110
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Flotl Flotz Flot:
W1 B3IX-7
Yzl -Xz+4
R = FARS
x$q=
“MYe= -
Wea=
MNE (8 (o
X\ »n Yo | Vs
2(|-13{0 |-8
-11-1013 | -1
0l(-7 (4 |0
114 |3 |1
2 /-1 |0 |8

Fiotl Fliotz FIot3
W EIK-7
Wz B -K2+e

~YiEH~3
Wyl -Koe+2

“We=

- NV (o] 8 J(ewrer

X ¥ [ Y2 | Vs | Vs
-11-101(3 -1 2.16
0 (-7 |4 0 2

2 -1 10

7 |14 |-45]1343 | g3
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